                                                                ----------------------

                                                                TRANSMITTER

                                                                ----------------------

No. of message bits:7

Enter message bits:1

0

0

0

1

1

1

Encoded message is: 1 0 0 1 0 1 1 0 1 1 1

Press any key to transmit message.......

          ---------------------

                                                                    RECEIVER

                                                                   ---------------------

Received code word is: 1 0 0 1 0 1 1 0 0 1 1

The received word has an error in bit number: 3

Press any key to correct the error.....

The corrected code word is: 1 0 0 1 0 1 1 0 1 1 1 

The decoded word is: 1 0 0 0 1 1 1 

